
Writ ten observation» tf C, vui 10 of A) then 10 of 
A, and 10 ef C) and finally 10 tf C and 10 tf 1* The results
are shown b«ltvt«

Full in Pounds.

Ohs* let and 3rd 4th !>th 6thC A A 0 C A

let 30 00 40 TO 30 35
knd 40 40 60 SO 40 40
3rd 40 04 40 66 30 304th 00 40 44 SO 10 203th SO SO 04 40 30 16oth 40 40 60 40 30 SO?th 40 30 TO 40 04 23
eth SO 40 40 00 24 30
nh so 30 00 40 20 46

loth 40 44 60 30 23 36
3*. 10 Ob». 406 346 6S0 900 320 330
AV# 1 «0.9 34*4 32.0 90.0 38.0 33.3

any question that A is a stead!Mold Petes l*Hardly 
Kite thane althoud te ralthough both flew well is inef wind byA appeared to be more sluggish, actingthe air

like a Kite wouldlift readily te the falling, orin the air while the otherbo ri give evidenee of being stntek by a squallthat thewhich the ether did net feel eeadltilndontieal
in the air at the

only a short dletaaee apart

e f»

t

Kite 0 
place. Kite A '

i then taken down) and Kite » rained In Its 
lsft flying csntlnueualy frr ©ngparissn.


